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Q1. Choose the correct answer. 1X10=10 Lo yerne Sz L) Ay
1. In the following, linear equation is: :,T_;,n;p@;;_,g St
4=1+3 (D) 2x+1=1 (C) 4x-2<1 (B) 5x>7 (A)
2. Solution of 5x - 10 = 10 is: °< S ¥5x-10=10 .2
-4 (D) 4 (C) 50 (B) 0 (A)
3. If 7x + 4 < 6x + 6, then x belongs to the interval: % v F 65 TX+4<6x+6.1 .3
(—0,2] (D) (—00,2) (C) [2,00) (B) (2,00) (A)
4. Avertical line divides the plane into: PR _,.-"{f_:“?,f S 36 A
Two half planes Ui (75 (D) Full plane 5 §.¢ (C) Right half plane s _id /s (B) Left half plane $5~ <L (A)
5. The linear equation formed out of the linear inequality is called: :‘:_t-LFLéJ/ i ehladhz e el @nl .5
None of these 45} & (D) Quadratic equal =L+ (C)  Associated equation =1L+ 36> (B) Linear equation =15+ - (A)
6. 3x+4<0is: ' 3x+4<0 .6
identity (1 (D) Not inequality ' =1s.- 2 (C) Inequality =15t # (B) Equation =t~ (A)
7. Corner point is also called: :;:_t'ﬂf.bﬁﬁ_f I
Region .5 (D) Curve i (C) Vertex 1. (B) Code 35 (A)
8. (0,0) is solution of inequality: : ,:-_‘_}’ £(0,0) .8
x+y>4 (D) 2x +3y <0 (C) 3x+y>6 (B) 4x + 5y > 8 (A)
9. The solution region restricted to the first quadrant is called: ;f:_t-M,; it L J,JTv;, 256 F 9
Constraints region £3§U»s&, (D) Solution region £F (C) Feasible region 4} ¢ (B) Objective region 45557 (A)
10. A function that is to be maximized or minimized is called: Se bl e bl mlic il b bi2 06 A0
None of these U7 3 = Ul (D) Feasible function ¢ Jf 6 (C) Objective function Je T (B) Solution function FE7 (A)
Q2. Write short answers of the following questions. 2X10=20 SIS F 2N Ly s pimr 24y
| . Solve and represent the solution on a real line: 12x + 30 = -6 12x+30=-6:1./ 16 L3 Grw J S I S etoln S50 . |
Il . Solve and represent the solution on a real line: % +6=-12 % +6=-12 ;Jﬂ-fﬂw,;Lﬁdm;;@;f’j;r’;upjiéﬁ .|
- Solve and represent the solution on a real line: 2 3X = 1 2 — 3x = — :._,f/ ﬂlgfhid}ﬁi:'ur/r J’ :*".:.,r,-uutjaﬂ 1
4 12 2 4 12 " )
IV . Solve and represent the solution on a real line: 2=7 (2x + 4)+12x 12x+(2x+4)7=2: S LGkl S e tits IV
V . Shade the solution region for the following linear inequalities in xy-plane: J f,»;LF g, MUY B ¥ F L =il /:e L;_J}__i_i‘u_ i V

3x—2y>6 3x—2y>6


https://v3.camscanner.com/user/download
Step Academy Official

Chapter # 05


VI . Shade the solution region for the following linear inequalities in xy-plane:

5x—4y <20

VIl . Shade the solution region for the following linear inequalities in xy-plane:

3y—4<0

Vil . 2
Find solution of g X— 1 <0 and also represent it on a real line.

IX . Minimize z = 2x + y; subject to the constraints: y + y> 3;
7x+5y<35x>20;y>0

X . Solve and represent their solutions on real line: 3x + 7 < 16

Q3. Write detailed answers of the following questions.

1. Indicate the solution region of the following linear inequalities by shading:

3x+7y>21.x— y<2

2. Indicate the solution region of the following linear inequalities by shading:

4x—3y<12.x 2 —%

IL,,:/’:r;U;LLIJ,:—VL,CJF-X}’MKJE.&J:L«‘/;; :_;;J...g‘j’_i@;: .V
5x—4y <20

Zuj[ﬂgiﬁhfbuﬁﬁﬁ”-}l}fﬁfwé..:.JJL«‘/;; L;JJ.l:ut,i@JJ . VI
3y—4<0

-u:fgw,;hidmmujff:ré Xx—1< U - il

TX+5y < 35ix+y >3 2yl e fEz=xey L IX
x20;y20

Ix+7<16:/ b Sy S F L X

oX2=10 _L{.r', 4/’ :.rI!LE[kB’"" Z.:.rﬂlfJ_ dpikr3 /:I Jl‘f
IX+TY 321y 6 LS 56 Lotse 7 Gk st
el
Ax— 3y £ 12 :u:';f,fLE L,‘J/JJJ,:L’MKJZ-:JJL’/:; Gl ibsn 2
3

:)__
=75
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